1

BOD 10mg/L TOC
10mg/L  T-N 10mg/L T-P 1mg/L
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Runi | Run2 | Run3 | Run4
20
2
2/ 0.11
g m 0.45
HRT 6
FLUX m/day 0.36
MLSS ma/L 2500
min:min 28:32
min:min 24:36
m/min 04 0.2 04 04
0
( / ) % 0 10 10 10
5mm
PAC
(Al ) mg-Al/L 0 0 0 2
8.0 27.0
BOD mg-BOD/L 156.8 + 39.8
TOC mg-TOC/L 85.8 + 20.5
T-N ma-N/L 35.7 + 8.4
T-P mg-P/L 4.6 + 15
3.
3.1
3.1.1.
2 MLSS
MLSS
. cl ., cl
MLSS[mg/L]=al” (100-——)+bl" ——
100 100
al= MLSS(mg/L)
bl= (mg/L- )
cl= (%)
—O—Runl —®—Run2 —®—Run3
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gJ.OOOO
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MLSS Runl 5000 mg/L
Run2 12000 mg/L Run3 9000 mg/L
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120

120
BOD [ ]
mg/L[97.8%] Run2
Run3 3.4 mg/L[97.7%)]
TOC [ ] Runl 6.96 mg/L[91.4%]
Run2  6.83 mg/L[91.6%] Run3  6.92
mg/L[91.5%] Run

Runl 3.3
3.2 mg/L[97.8%)]

3.1.3.

| —O—Runl —=— Run2 —o—Run3 |

@ Org-N ONH4+-N BNO2--N EINO3--N

(mg/L)

[

7
Run2
6
T-N [ ] Runl
16.1 mg-N/L[53.3%] Run2 10.0 mg-N
/L[70.6%] Run3 10.9 mg-N /L[68.3%]
0.2 m/min

Run2
NOz-N

NOs-N
Runl 10.9 mg-N/L Run2 43
mg-N /L Run3 6.5mg-N/L
NOz-N
DO
Run2 3 NOz-N
DO
DO Runl 7.67 mg-O2/L
4.26 mg-O2/L Run2 1.31 mg-O2/L
0.04 mg-O2/L Run3 292
0.78 mg-O-/L Runl
DO  4.26 mg-O2/L
NOs-N

mg-O2/L

Runl
NO3-N

0.4 m/min  Run3

Runl Run3

3.1.4.
7 T-P

T-P [ ]

262 mg-PIL[41.3%]

mg-P/L[56.7%]

Runl
Run2 1.93
Run3 2.31 mg-P/L[48.3%]
Run2
Run

| —0—Runl —=— Run2 —e— Run3

10

(mg/L)
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( Pa)

8 G )
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Run3
MLVSS/MLSS

Run4
70 80%

3.2.2.

BOD [ ] Run3
3.99 mg/L[96.8%] Run4 3.73 mg/L[96.1%]

1 TOC
12
TOC [ ] Run3 7.73 mg/L
[89.2%] Run4 4.53 mg/L[93.7%)] BOD
PAC
BOD TOC
BOD
BOD PAC
TOC
|  —e—Run3 —A—Rund
10
8 4
£
4 -
2 -
0 1 1
0 7 14 21
(day)
12 TOC
3.2.3.
T-N [ ] Run3
15.94 mg-N/L[54.8%] Run4 14.68 mg-N
/L[59.5%)]
Run4
1)
Run T-N 57.6%
T-N

PAC

Run3 Run4

2 mg-Al/L
PAC
Run3 Run4
3.2.4.
13 T-P
| —e— Run3 —A—Run4
2.0
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TP [ ] Run3
1.22 mg-P/L[46.5%] Run4 0.06 mg-P
/L[94.8%)] PAC
3.2.5.
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—e— Run3 —— Run4
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15 FLUX
Run4
TOC Run4
EPS
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4.
4.1.
BOD Runl 97.8% Run2
97.8% Run3 97.7% TOC

Runl 91.4% Run2 91.6% Run3 91.5%

Run BOD

4.2.
Runl

DO NOsz-N

T-N Runl 53.3% Run2
70.6% Run3 68.3% Runl
Run
4.3.
T-P Runl 41.3% Run2
56.7% Run3 48.3%

4.4,
Runl 0.19 m/day
0.24 m/day Run3 0.20 m/day
Runl 3 Run2 1
Run2

Run2
Run3 3

Runl Run3
4.5,
TOC

Run3 62.7% Run4
98.4%
Run3 0.15 m/day

Run4 0.19 m/day Run4 Run3
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